R X

ax

=

AR g - £ R SKEE R

=

°272.6

273.8

=301

7.8

° 2A8/

18.3

0.6

FUEEVIERT DL
BESNDHDKRESDHRAK (kN/m2)

~—

THER

SH=(m)

BRADANMERAT RO LIHFRD

1:2,500
50

100m

0

MEXE iE X

AR R g - £ Y KE R

=
Aa/

Bk DRKGBZ 1T T,

EERLIZLDTH D,

FBE3EA T OE B HIE25, 000 (i i)

D HE T [E + HBE

-
.
—

UKo P22, 549475)

THER

L1826
KEF7
REATARRX R KE

BRRZRDIESHE

Hh

Fir

R N
R R
N N
= =
10 )
K | K
B | BE
V@ Xl
-AN;A -Aw@
oy | B
LE | £E| ¥
IR LR
§2| 82 m
H3 | K3 =
M | MR -
U x| E(l]
fIE ~@ {iE
[SEIN S
1= 5 1=
Etm [t
& H = H
x|
R B
S x|
o i 4R
2 R
H H i




